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	Intro Task

	Write down a number that uses lots of 9s; and another different one; and another different one 

	

Task 1a: 
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	Tasks about multiplying and dividing numbers:

Task 3a: Don’s question: what has gone wrong?
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Integers (possibly from Don’s Median site):
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What do we mean when we say:

3isanumber 3is a number
1

2.3 is a number 1.
Jisa number
2.3 is a number .

gis a number
V3 is a number

2% is a number
V4 is a number 3

3 +V3isanumber -3 is a number
iis a number o is a number
3 +iisanumber €is a number

gis a number
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Task1b

For each number below, decide if there could be a ‘next number and, if o, in
what circumstances and what it might be.
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Task 1c

Suggest an appropriate context, mathematical or ‘outside’, for  to be:

Acount Adiagram
Ameasure An operator
An approximation Aposition
Apattern Adistance
Asymbol Ascale factor

Aword
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(1) work out
(@165% 125
and

(0)125%245

what s the
difference
between the
two results?
why?

(2) work out

) 125%125
W) 85%165
(i) 105 % 145

what are the
differences
between the
results?

(3) work out:

) 285%245
(i) 225265
(i) 205% 285

what are the
diflerences
between the
results?

@

1y to explain why the
decimal part of

(m+05)x(n+05)
s alvays 0.25
if'm and ‘' are

both even or
both odd
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Task 3b
Is the answer to a division always a number?

When is the answer to a division question:

a fraction? aratio?

a mixed fraction? a recurring decimal?

a cabbage? a converging series?

two buses? a non-recurring decimal?
arate?

Pedagogic reflection:

(i) Round-up on fractions/decimals as exact or approximate: John’s
interactive animation
(i) Recurrence: long division algorithm and insights about number
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4 consecutive numbers: a,b,c,d

(U] (a) sum to 130, what are they? (b) sum to — 38, what are they?
) the sum of the first three is 10 more than the 4th, what are they?
(3)  whatis (a +d) - (b + ¢)? always?
(4) explore a + b + ¢ — d and generalise...
(5) give a reason why the sum: a + b + ¢ + d must have an odd factor
(6)  which consecutive numbers are such that a + b + ¢ + d divides (exactly) by 32 generalise....
() why can't the sum: a + b + ¢ + d be a multiple of 4?
(8)  why can (ac - bd) never, ever, be even?
9) what is bc — ad? always?
(10)  whatis a2 + d2 — (b2 + c?)? always?
(1) whyisa?+b2+c2+d2— (0 + 1+ 2+ 3) divisible by 42 why is it always divisible by 8?2
(12)  explore \(abcd + 1)
(13)  why is (abcd) divisible by 247
(14) use trial and improvement to find the four consecutive numbers such that abcd = 840

(15)  use trial and improvement to find the four consecutive numbers such that a® + b® + ¢® + d* = 886688




